Lecture 17 - Review
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From 201330 exam:
Question 1 ( 7 marks)
Assuming UTF-8 encoding, how many glyphs (characters) are encoded by the following se-
quence of four bytes: Oxce, 0x91, Oxce, and 0x92? What are the values, in decimal, of their
Unicode values (“code points™)?
Table 3-6 from version 6.2 of the Unicode standard is given below.
Table 3-6. UTF-8 Bit Distribution

Scalar Value First Byte Second Byte | Third Byte | Fourth Byte

00000000 OxxxxXXXX OXXXXXXX

00000yyy yyxxxxxx 1 10%yyyy TO¥xxxxx < use Thls encoding

ZZEZZYYYY VYXXKXXX 1110zzzz 10yyyyyy 1 0o

000uuuun zzzzyyyy yyxxxxxx | 11110uuu 10uuzzzz 10yyyyyy 1Onoooood
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Question 9 from Assignment 5
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A Greek capital
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